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I ’a mwn: proper kneading of nnin:
a  Water: with lukewarm water, and must be watched to avoid yinm
b If: the m»vw rise, he is liable for a W5 (v. 1)
¢ Independent liability: for kneading, laying out and baking
i Source (for liablity for o»1w proon): 91 — v. 2; (reading npYn as attached to earlier clause — see trope marks)
ii ~ Challenge: v. 2 is needed to teach independent liability for y1’n at each act in preparing nnn:
1 Per 1055 55371 1o 831 5522 ivaw 5. baking was included in nwyn &Y, singled out to teach that any singular act
that is part of the preparation of a nmn carries its own liability
iii Answer: our conclusion comes from Dpbn
1 Challenge: perhaps v. 2 only comes to teach y1n'n o'r with (even) o»vw
(a) Answer: if so, it would have written npn earlier; sequence teaches both
II  Reexamining the exegesis: ...5931 v %3
a  Counter proposal: perhaps one liability for baking and one for all other preparation acts.
i Block: hermeneutic is — anyt hing that was part of a general rubric and was singled out informs about the rest
b Counter proposal: why not read v. 1 as 993 and v. 2 as V18 > general limited to specific (only baking)
i Block (sp»1109% *9): the 593 and v19 aren’t juxtaposed
ii  Challenge: suggestion to limit pay (among mrvn) to X1 PYW (were it not fo ar Pia [v. 5]) based on vv. 3-4
1 Block (»wx "): this is a 9921 V18 (v. 3 — limiting to X*W1 YW — appears earlier)
2 Rather: the X1 is “bothered” by the exclusionary word ymr (not entertaining 0191 593 as a reason for limit)
ili  Observation: what is ymR used for, once aR 111 includes all mxrovn?
1 Answerl: excludes pwm 9w (brought at namn nann) from requiring pax
(a) Justification: R"10 since WM VYV requires N2'No, would require nax —H"np
(i) Per: nmn "v’s inference from v. 3 — n2no applies to WM VYV as well
(if) However: ™ reads v. 3 as extending to 1"y »1»w, not N1 Vyw
1. Therefore (x#2237): "1 would see no need to exclude nwn YW from oy
2. Comment (X227 8701 71): even > can't justify; only n2’nv was “included”, not pax
3. Suggestion: perhaps we could infer from ax 2
a. Block: if so, no need to mention n3'nv and it could be inferred via ar 2
b. However: we don’t infer one-time ruling ("nyw”) from mm7
2 Answer2: MR excludes requirement of vmWv to be in 119¥ (as long as NY'NY is done there)
(a) Challenge: that is inferred from v. 6 per N”’nR "1 — contrasting Vmw with Yapn (who must be in pay)
3 Answer3: 1mR excludes 1y from pax
(a) Justification: v'p from flock, which doesn’t require 103 for noNY (MY requires jn3 for npon)
(b) Block: flock requires »93, unlike 91 (done by hand)
4 Answer4: 1mR excludes noa
(a) Challenge: we already excluded noa from ax per ”ar1 — who tried to infer via v’p from 0%y (no set time)
(b) Block: ny is 9293 (he tried nkvn — but it is 3”n Y 793n; tried DR — it is 7"p7p — which is true for all 3)
5  Answerb: back to answer2 — limits requirement that animal must be in pay, not vmw
(a) And: to challenge that we inferred that from n»nx 'v’s interpretation of v. 6
(b) Response: nnR "1 was deriving obligation of 92pn to be in nax — but essential exemption of VMW from pax
is derived from our MR
(i) Note: others infer requirement of Yapn to be in Pax from np»
(if) And: n»nr "1 disregards that X as insignificant
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